Oracled O0:0000O0OracleD 0 OO PDFO OO OOOOO
OJ0ooooooOn
https://www.100test.com/kao_ti2020/622/2021 2022 _Oracle E6_A
6 82 E5 c102 622694.ntmI 000000 OO0 OODOO0O
Jododoboooo@uOoyoouoouooooooa
Jododobooooodobooouoooooooood
DJO00000000000REFODODO ODOOOOOOOO
OJO0O000 00000 CURSOROUOO (OO)H)[mOOO
O]1SSelect D0 DOOOO 1.OOOO(OPEN)D OOOO
Jo0o0doooooooooo 20000000
OFETCHINTO)UO DO0O0OU0O0OoUooooooooooo
OJ00000000000o0oOon 3.0000(CLOSE) O
Jododoboboooodobooouoooooooooa
OO00000000DO setserveroutput on declare cursor
emp_cur ( p_deptid in number) is Oselect * from employees where
department_id = p_deptid. |_emp employees%rowtype. begin
dbms_output.put_line(* Getting employees from department 30

' ). openemp_cur(30). loop fetch emp_cur into |_emp. exit when
emp_cur%notfound. doms_output.put_line(* Employeeid® ||

| emp.employee id|[* is‘ ).
dbms_output.put_line(l_emp.first name||* * ||

| _emp.last_name). end loop. close emp_cur. doms_output.put_line(
* Getting employees from department 90° ). open emp_cur(90).
loop fetch emp_cur into |_emp. exit when emp_cur%notfound.
dbms_output.put_line(" Employeeid‘ ||| _emp.employee id||°
is* ). dbms_output.put_line(l_emp.first name||* * ||



| emp.last_name). end loop. closeemp cur.end. /OO0 00O O
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LOOPL O U forloop O U OO 100 OO O declare begin Qupdate
departments set department_name=department_name. --where
1=2. dbms_output.put_line(* Oupdate * || sql%rowcount ||’
records’ ).end./20 OO O declare begin for my_dept_recin (
Oselect department_name, department_id from departments) loop
dbms_output.put_line(my_dept_rec.department_id ||* :* ||
my_dept_rec.department_name). end loop.end. /0 O 0O O [
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Declare Cursor emps is Select * from employees where rownumé&lt.6
order by 1. Emp employees%rowtype. Row number :=1. Begin
Open emps. Fetch emps into emp. Loop If emps%found then
Dbms_output.put_line(" Looping over record * ||row||‘ of* ||
emps%rowcount). Fetch emps into emp. Row :=row 1. Elsif
emps%notfound then Exit. ---exit loop, not IF End if. End loop. If
emps%isopen then Closeemps. End if. End. /0 0O 0 0O 0O O O O
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